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a

Midpoint on a coordinate plane: tnapXn
(x, , y,)
(x. ,9.)

A--tr-+
f') (?,i) E*,:19ff#P:: i,E L;H

M (x,yJ = (-'*"r, ?.,g)

M is the midpoint ot TE with .4(0, 1) and M(3,5).
Find the coordinates of B.

EXAMPLE 4: The midpoint of F'0 is M(4,_1). What are the
coordinates of R if e is at (3,_Z)?

/ Y-l1-3 . s, -2 \\ z'T)tt
- l - 5,-2,-T
-2=U,-2
o=Y'

R(5,o)

Find the midpoint between (_r1r,.r] 
""o,g r]

l'4(x,s) = (-ry' +) = ( -i,+) = (€,-z)

EXAMPLE 1:

EXAMPLE 2: Find the coordinates of the midpoin t ot W, i!
V(3,-6) and W(7,2).xr gr xr.jz

Mh, y)-- (T ;+\= (€'+) = (5,-2)

EXAMPLE 3:

6( r.q)

ffitu
A

t: x, 13
t):Y,


